Hal
ISANTA

MEMBER

Senco Brands, Inc.
4270 lvy Pointe Blvd.
Cincinnati, OH 45245
1-800-543-4596

Www.senco.com

© 2014 by Senco Brands, Inc.

( SNS200XP-BST

Construction Stapler

Parts Reference Guide

Guia de referencia
de piezas

Pieces Guide
de référence

Schematic Drawings Inside
Plano esquemético en el interior
Schéma intérieur

Repair Kits
YKO838

YKO839

SENCO

NFGO07C « Revised September 3, 2018 (Replaces 8/21/2018)

Questions? Comments? call SENCO’s toll-free Action-Line: 1-800-543-4596
(North and South America Only) or email: toolprof@senco.com

¢ Tiene preguntas? ¢Comentarios? Llame a la linea gratuita de accion de Senco: 1-800-543-4596
(s6lo para América del Norte y del Sur) o envie un correo electrénico: toolprof@senco.com

Des questions? Des commentaires? Communiquez avec le service d'assistance sans frais de Senco : 1-800-543-4596
(Amérique du Nord et Amérique du Sud seulement) ou envoyer un courriel: toolprof@senco.com




Tool # Model

7C0001N Contact-Actuation
7C2001N Contact-Actuation

KB6666 ##1.B5104
AB0227 ‘o, | EAD380
# ## KB6671
@i::iijji> BC0872
AB0228
g BC0873

AC0546

BC0874
BC0867
BC0868
#
#

BC0875
#

##
BC0869
BC0870 ##BC0950
KB9909 0
BC0871 BC0866 Use with EA0296 P/D Assy LA

BC0935 Use with EA0380 P/D Assy

# KB7033

# Contents Of YK0838 Repair Kit
## Contents Of YK0839 Repair Kit



GB0806 US
GB0807 CE

( SNS200XP-BST

.............................

SEQUENTIAL TRIGGER

.............................

KB7044

.........................

SIDING

.........................

Construction Stapler



SENCO ©) Construction Stapler
|

PART N DESCRIPTION DESCRIPCIO!

( SNS200XP-BST

REPLACEMENT PARTS LIST o LISTA DE PARTES DE REPUESTO e LISTE DE PIECES DE RECHANGE

SIGNATIO

ABO227 ... COVER, EXHAUST CUBIERTA COUVERCLE

AB0228 CAP TAPA BOUCHON

AB0229 MAIN BODY CARCASA . CORPS

AC0461 BELT HOOK GANCHO DE CINTURON CROCHET DE CEINTURE
AC0462 WASHER ARANDELA RONDELLE

AC0464 GASKET SEAL JOINT i
AC0465 END CAP TAPA TERMINAL BOUCHON D’EXTREMITE DE RAIL
AC0546 GASKET SEAL JOINT

BC0866 WASHER ARANDELA RONDELLE

BC0867 SPRING RESORTE RESSORT

BC0868 . VALVE, FIRING VALVULA. VALVE

BC0869. .SEAL, FIRING VALVE SELLO, VALVULA QUE ENGIENDE ........cooiiiiniriiinnininiinis VALVE

BC0870. VALVE,EXHAUST VALVULA VALVE

BC0871 STOP TOPPE ARRET

BC0872 WASHER ARANDELA RONDELLE

BC0873 SEAL SELLO JOINT

BCOBT74 ... CYLINDER SLEEVE CILINDRO CYLINDRE

BC0875 PLATE PLACA PLAQUE

BC0935. DRIVER SEAL PLATE PLACA DEL SELLO DEL PROGRAMA PILOTO.... PLAT DE JOINT DE GESTIONNAIRE
BC0950 STOP PARADA ARRET

EAO380 .....ooovvververicrcinne PISTON / DRIVER ASY PERCUSOR COUTEAU

FC0879 PLATE PLACA PLAQUE

FC0880 RING ANILLO ANNEAU

FC0881 BACK PLATE PLACA PLAQUE

FC0882 PIN PASADOR GOUPILLE
FCO883.........ovoeveeerirerisriieneene FRONT PLATE PLACA PLAQUE

FC0884 COVER CUBIERTA COUVERCLE

FC0885 PLATE PLACA 5 PLAQUE |
GA0693. LATCH ASSEMBLY ASAMBLE DE UNETA DOIGT DE RETENUE D’ASSEMBLEE
GAQ0701. .SPRING ROLLER RODILLO GALET

GB0806. .MAGAZINE COVER (US) CUBIERTA COUVERCLE

GB0807. .MAGAZINE COVER (CE) CUBIERTA COUVERCLE )
GB0809. .MAGAZINE ASY ASAMBLE DE CARGADOR MAGASIN D'ASSEMBLEE
GC1495. BRACKET, MAGAZINE SOPORTE SUPPORT DE FIXATION
GC1496 RAIL CARRIL RAIL )
GC1497 END CAP TAPA TERMINAL BOUCHON D’EXTREMITE DE RAIL
GC1498 DETAINER RETENEDOR ARRET

GC1500 FEEDER ALIMENTADOR POUSSOIR

GC1501 GRIP AGARRADERO GAINE EN CUIR
HA0287. TRIGGER ASSY (Contact Actuation)... ASAMBLE DE GATILLO ENSEMBLE GACHETTE
HA0288. TRIGGER ASSY (sequential-actuation) ASAMBLE DE GATILLO ENSEMBLE GACHETTE
HC0365 PIN PASADOR GOUPILLE

HC0691. COVER,SAFETY CUBIERTA COUVERCLE

HC0692. .GUIDE,SAFETY GUIA GUIDE ) i
HC0693. .SAFETY ELEMENT SEGURO PALPEUR DE SECURITE
HC0694. .SAFETY ELEMENT SEGURO PALPEUR DE SECURITE
HC0695. .LOWER SAFETY ASAMBLE DE SEGURO PALPEUR DE SECURITE
HC0748. .LOWER SAFETY ASAMBLE DE SEGURO PALPEUR DE SECURITE
KB3588 . .SCREW M4*16 TORNILLO VIS

KB6588 . SCREW M5*18 TORNILLO VIS

KB6597 WASHER ARANDELA RONDELLE

KBBBBG ........oooveerricriceiinen SCREW M5*8 TORNILLO VIS

KB6669 SCREW M5* TORNILLO . VIS

KB6676 SNAP RING ANILLO DE RETENCION ANNEAU RESSORT
KB6750. SCREW M4*6 TORNILLO VIS

KB7034. .SCREW M4*10 TORNILLO VIS

KB7035 CRING ANILLO ANNEAU

KB7036 SPRING RESORTE RESSORT

KB7037 PIN PASADOR GOUPILLE

KB7038 PIN PASADOR GOUPILLE

KB7039. SCREW M5*28 TORNILLO VIS

KB7040.. PIN PASADOR GOUPILLE

KB7041 PIN PASADOR GOUPILLE
KB7042........ooeveieriercinnnn SCREW M3*6 TORNILLO VIS

KB7043 SPRING RESORTE RESSORT

KB7044 PIN PASADOR GOUPILLE

KB7077.. PIN PASADOR GOUPILLE

KB9828 . SCREW M4*12 TORNILLO VIS

KB9838 WASHER ARANDELA RONDELLE

KB9843 PIN PASADOR GOUPILLE

KB9844 PIN PASADOR GOUPILLE

KB9909 ..o WASHER 14*1T. ARANDELA RONDELLE

KC0062 RETAINER RETEN RETENUE

KD0212 SCREW TORNILLO VIS

LB1303. 0-RING 24.5*3 SELLO JOINT

LB5104 0-RING SELLO JOINT

Questions? Comments? call SENCO’s toll-free Action-line: 1-800-543-4596 (North & South America only) or e-mail: toolprof @ senco.com



